
 

a b c are distinct one digit numbers
What is the maximum value of the sum of the

roots of

x a x b t x b x c 0

First we rearrange the LHS into a more standard
Form

x a x b t x b x c o

x b x a x c O

x b 2x ate 0

2 2 2b x ate x t blate O

2 2 t f 2b a c x t b atc D

The sum of roots is given by

C 2b a c 2b tato

2 2

b Azt Ez



We need to maximise this quantity keeping in

mind that a b c are one digit integers and dish c

So we choose b 9

E train
so that the sum of the roofs is

oft 82 72 16.5


